
SAP ABAP table JFDFS {IS-M/SD: Billing/Settlement Index}

JFDFS

MANDT [CLNT (3)]

OBJART_V [CHAR (4)]

OBJID_V [CHAR (50)]

OBJART_N [CHAR (4)]

VKORG [CHAR (4)]

EKORG [CHAR (4)]

FKDAT [DATS (8)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

FKART [CHAR (4)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

GPNR [CHAR (10)]

VERSERVGES [CHAR (10)]

LLAND [CHAR (3)]

ZLSCH [CHAR (1)]

GPNR_RG [CHAR (10)]

GPNR_RE [CHAR (10)]

BEZIRK [CHAR (10)]

BEZRUNDE [CHAR (10)]

DRERZ [CHAR (8)]

FKPER [CHAR (2)]

POSNR_UR [NUMC (6)]

PERFK [CHAR (2)]

REFUNDTYPE [CHAR (2)]

JDTDRER

MANDT [CLNT (3)]

DRERZ [CHAR (8)]

 JFDFS-DRERZ = JDTDRER-DRERZ 

0..N

1

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JFDFS-GPNR = JGTGPNR-GPNR 

0..N

1

 JFDFS-GPNR_RE = JGTGPNR-GPNR 0..N

{0,1}

 JFDFS-GPNR_RG = JGTGPNR-GPNR 

0..N

{0,1}

JGTVSG

MANDT [CLNT (3)]

VERSERVGES [CHAR (10)] JFDFS-VERSERVGES = JGTVSG-VERSERVGES 0..N

1

JKAK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JFDFS-VBELN = JKAK-VBELN 
0..N

1

JKAP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 JFDFS-POSNR = JKAP-POSNR 

0..N

1

 JFDFS-POSNR_UR = JKAP-POSNR 0..N

{0,1}

JVTBEZIRK

MANDT [CLNT (3)]

BEZIRK [CHAR (10)]
 JFDFS-BEZIRK = JVTBEZIRK-BEZIRK 0..N

0..N

JVTBEZRND

MANDT [CLNT (3)]

BEZIRK [CHAR (10)]

BEZRUNDE [CHAR (10)]

 JFDFS-BEZRUNDE = JVTBEZRND-BEZRUNDE 0..N

0..N T000

MANDT [CLNT (3)]

 JFDFS-MANDT = T000-MANDT 
0..N1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 JFDFS-LLAND = T005-LAND1 

0..N

1

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 JFDFS-EKORG = T024E-EKORG 

0..N

1

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 JFDFS-ZLSCH = T042Z-ZLSCH 

0..N

1

TFACD

IDENT [CHAR (2)]

 JFDFS-PERFK = TFACD-IDENT 

0..N

1

TJFK

MANDT [CLNT (3)]

FKART [CHAR (4)]

 JFDFS-FKART = TJFK-FKART 

0..N

1

TJK01

MANDT [CLNT (3)]

FKPER [CHAR (2)]

 JFDFS-FKPER = TJK01-FKPER 

0..N

1

TJK19

MANDT [CLNT (3)]

REFUNDTYPE [CHAR (2)]

 JFDFS-REFUNDTYPE = TJK19-REFUNDTYPE 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 JFDFS-SPART = TSPA-SPART 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 JFDFS-VKORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 JFDFS-VTWEG = TVTW-VTWEG 

0..N

1


